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P-449(H\E) BUSINESS ECONOMICS 2016

Time : 3 Hours | Class : 12th [M. M. :100
_ Instructions-

(i) Allquestions are compulsory.

(ii) Question nos. 1 to 5 are objective type questions which con-
tains choose the correct aldermatives, fill in the blanks, true/
false, match the column and answer in one word/one sen-
tence. Each question is allofted S marks. -

(iiii) Question nos. 6 to 10 carries 2 marks each. The word limit
is 30 words.

(iv) Question nos. 11 to 17 carries 4 marks each. The word
limit is 75 words.

(v) Question nos. 18 to 22 carries S marks each. The word
limit is 120 words.

(vi) Question nos. 23 and 24 carries 6 marks each. The word
limit is 150 words.

Q.1. Choose the correct options: 1x5=5§

(a) Macro-economics is related to:

' (i) Individual quantity  (ii) Collective quantity
(iii) Individual production (iv) Collective production.

(b) In India parliament passes the budget:
(i) upto 28 February ~ (ii) up to one march
(iii) upto 15 march (iv) up to 31st march.
(¢) Foreign exchange is a procedure:
| (i) Among nations (ii) Among states
(i) Inside nation (iv) Inside states
(d) Wage paid to and factor of production:
(i) Entrepreneur (ii) Labour
(iii) Capitalist (iv) Land.
(e) Whose responsibility is the selection of base vear:
(i) Index number {1i) Average

(iii) Mean deviation {1v) Standard deviation.
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Q.3.

Q.4.

Q.5.

Q.6.
(OR)

Q.7.
(OR)

Fillin the blanks: 1x5=5
(a) Railway budget is presented in parliament by ....
(b) In .... of visible and non-visible both items are included.

~ (c¢) - Sand market is called .....

(d) ... is the reward of entrepreneur.
(e) ... can make deficit finance. _
Write True/False: 1x5=5"

(a) Reserve bank gives loan to public.
(b) Balance budget is gift for economic development.

(¢) Inperfect competition price is determined at equilibrium point.

(d)  The Net Income are distributed among the factors of produc-
tion. '

(e) Indian tax system is not complex.

Match the column: Ix5=5

(a) Supply create its own demand (i) Budget

(b) Primary functions of money (ii) Tax

(¢) Description of Income and (iii) Monopoly market
expenditure
(d) Only one seller (iv) JBSay
(e) Compulsory contribution (v) Basis of exchange
(vi) Social Welfare
Answer in one sentence/word: I1x5=5

(a) which is the central bank of India?

(b)  Salestax and entertainment tax are the examples of which tax?

(¢)  Which country stands first in the production of soyabean in
the world.

(d) How many types of Index?

(e) How is the standard of living of people where per capita in-
come is more. | | |

“Money is good servant but bad master.”” Explain. 2

Write two difference between Central Bank and Commercial Bank .

What is balanced budget ?

What is deficit budget?
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Q8.
(OR)

- Q.9.

(OR)
Q.10.
(OR)
Q.11.
(OR)
Q.12.
(OR)
Q.13.
(OR)

Q. 14.
(OR)

Q.15.
(OR)
Q.16.
(OR)
Q.17.
(OR)
Q.18.
(OR)
Q. 19.

(OR)
Q.20.
(OR)

Write any two difficulties of Barter system. 2
What is mixed market?

What is meant by child labour? : 2

- Discuss any two causes of high ratc of Interest in India.

Write any two difference between prim:ury and secondary data. 2
State any two merits of arithmetic mean.

Write four characteristics of micro economics. 4
Explaint he importance of Macro economics by any four points.
Write any four factors of determination of propensity to consume. 4
Explain the four causes of deficit-demand.

Write any four rypés of public expenditure. 4
Write the importance of budget (any four)

Discuss any four causes of adverse balance of payment. - 4

Discuss any four suggestions for correcting adverse balance of pay-

ment. http://www.mpboardonline.com |
Write any four advantages of balance of payment. 4
Describe the four factors affecting rate of foreign exchange.
Describe geographical conditions necessary for cotton production. 4
Write any four reasons for low production of sugarcane in India.
Givé four suggestions to increase national income in India. 4
Write the importance of National Income (any four)

Write five measures to correct deficit demand. _ 5
Discuss the criticism of Keynesian theory of employment.

Write any five differences between perfect competition market and
imperfect competition market. 5

Write five factors affecting the scope of market.
Give five suggestions for improving the condition of child labour. 5

T

‘ive differences between economic rent and contract rent.
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Q.21.

(OR)

Q.22.

(OR)

Q.23.

(OR)

Q.24.

(OR)

West Bengal? ( any tive)

Write any five problems of Indian paper industry.

‘What are the reasons for the centralisazion of the jute industry in

5

On the basis of following data find out National Income by Income

thethod:

Crore. Rs.
1. Sa!ary_'and wages 30,000
2..Rent 10,000
3. Profit 50,000
4. Interest 10,000
5. Depreciation 2,000
6. Gross domestic investment 60 000

Describe any five causes of low national Income in India.
Describe the six measures to control tax evasion.

Discuss any six characteristics of a good tax system.
Discuss the six essential merits of a good questionnaire.
Find out the arithmetic mean from the following data-

Marks

- 0-10

10-20

20-30

30-40

40-50

50-60

No. of
Persons

10
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p.\
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18
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ST TUIE : shelr XII
Qug-H

TS qvA
w9 1. w8 frsew gt feafan— 1x5=5
(31 wmfte srdymer wrafed ¥—
(i) =AfaTa e |, (ii) |rgfeer A 4,
(iii) safermTe SeqrEl 4, (iv) ETgfee saamel 3
(&) vA ¥ GOE 99T i WEAd: il € St §—
(i) 28 wiaEil o, (i) 01 =T 45,
(iiiy 15 rd =, (iv) 31 A @ |
(@) fayft fafmm = uftra det §—
(i) S¥ii & |, (if) Ui & e,
(1!1}&?%% (w]w'ﬁiﬁ"iﬁﬁ'{l

() Torw wrem & war & fog & 7 wHua wegdt wEand § 7

(i) wret, (ii) 24, (iif) gfrafa,  (iv) vl
(8) ImuR ad oA i wwer fewat ¥ 2

(i) ﬁé?li%, {in) |,

(iit) mme fa=er, (iv) wmra fa=er |
I3 (iv), (&) (iv), (@) (D), (@) (ii), () (i) 1
Wy 2, feamr i &t gfd wifeg— I x5=5
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FAL— () W=, (/) M, (F) =, () @19, (3) 713 F12 99 |

Wy 3. T/ e foflag— 1x5=5
(27) frod S s =1 Ho1 e ¥
(®) ugfea awi2 enfelw faem @ fog axem e
(@) ol wiaitn ¥ wea &1 fefo agem fog wam ¥
() A D Il B A GO Hae Y[ T w51 e 8
() e = womelt 7 sifcera @ &1
FAT—(3T) A, (F) 9, (W) 1A, (8) 313, (3) 19 |

¥ 4. GE W FART— 1x5=5
(31 qfd o7 fu oM @d SO wL T & () weie

(&) a1 %1 wgfiE w1 (i) =T
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(3 & ifrEr siveE (v) fafoma &1 mem
(vi) TrfSTes shedr |
BW—(3) - (iv), (@ > (v), () > (D), (D - (iii), (3) -> (ii) |
Uy §. Uah arad/yie ® IR i — 1x5=5
(30) A F HEE A HA-HE 7
(@) fashl &¢ wa 7R w1 fr & 3eem
(R) fFaw &1 daEs S I b fava d yam wma & 2
(® Fiws® fFarvend ?
(3) fam 2w o ufa =i o aifus o ¥ ael & amftsl & s @
hul Qi ¥ 7
FHT~(3N) feord F= aifw gfozan, (@) syms &, (F) 9. 1a. 1., () 94,
(3) =1
QuUg-q

WoH 6. ' Wz UF =3 DAk ¢, fg g0 mnd ¥ e wife 2
37erar

F2 a4 v =iE d% 1 9 s fafa

9y 7, A=fera oo feaa wega § 7 2
3rerar
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arerar

fofsrg srem fr@ Fea § 7

U9 9, A1l S W a1 A9 & 2 )
3rerar

g # =09 21 FE B ® €1 wIW Fagu |

e 10, Wt woe el fgdtas a9 9 s fafa 2
arerar

gura A & 21 7w fafan

wyA 1 1. =afte spebomea =0 |t favigand fefau ) 4
3rerar

wafe Advres %1 vew o faga | we wife

uyd 12, 3wim wafa &) faulfia #3 9@ #F1¢ 9 am@ fafaw) 4
arerar

AW (=71) 1M F =S w0 e Hife |

YA 13, At = & = yan fafea ) 4
3rerar
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3rerar

AT el & Widemerd ) g1 1 & "W 39 Faigy |

YA |5, STAA Had & 9 o ferfan ) 4
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3rgar
faroft fafma e =) wnfam w0 o =W o) &1 90f Fifs )
U 16. 9 &1 Foel & Tog sravgs rifers gymd sare 4
: areram
YPd H T F HH INEHA F A FEUE ? (FE =)
W 17, WG T T 31 R AR a w Qe Sy | 4
e
Ty 374 w1 Hew fafae (F1d ar0) |
UYT 18, vt | ) g H o Ui 3ur farfa | 5
arerer
@I & U TagI & STeii=HT sifad |
9 19, gof sl s ud sl sfaifar swm A e e s
arerar : 5
AR & famr =) wwnfaa & 9 ure 9 fefag |
U 20. 9161 SifE] et g9 GuA & e Syr i 5
: 379rar
. 3l T BT S A # uTe o fafa)
U¥T 21, 52 TR o ufeem sme § RiEd 21 @ @ e € 2 (FE i)

37grar 5
VR TS e & Ul auend fafeu |
YR 22, FeT SRSl & SMHR 9T 1 o Tty gry weety et om
FHifsm— 5
e g 5, o
1. A g weigl 30,000
2. farayenm= 10,000
3. M 50,000
4. =TS 10,000
5. EdEH 2,000
6. Twa uie] fafram 60,000
arerar
VI H T TR W B & YT SR T i Shifeu |
YA 23. T 9= FH1 VFa = @ 39t 1 gofy :ifqu 6
Jerqr o
Ut 31est T el i o fadreand fafe )
WY 24. U 3wa! WyaEel 3 9: 00 @1 Fof Hifag 6
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fy=fafen efeel O aura ge Fifau—
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